COMPLETE POWER ROLLER ASSY P/N: 460152

POWER ROLLER SCHEMATIC AND LEGEND

2X, POSITION APPROXIMATELY 12"
FROM CROSS TUBE

ITEM QTY. PART NUMBER DESCRIPTION
1 2 450222 MOTOR HSG, WELD
2" 2 450230 MOTOR, HYD MODIFIED 2000 *
3 1 460153 FRAME, ROLLER, 4600D
4 1 460154 PLATE, -10 BULK FITTING
5 1 480183 ROLLER WELD, 72 SB
6 2 P100809 BOLT: HEX 1/2-13 X 2-1/4"
7 8 P101006 BOLT: HEX, 5/8-11 NC X 1-1/2
8 2 P127318 U-BOLT, 3/8 X 4 X 4.62
9 4 P155450 NUT: HEX 3/8"-16NC TOP-LOCK ZP
10 2 P155850 NUT: HEX 1/2"-13NC TOP-LOCK ZP
11 2 P265705 FITTING: 10MJ BULK-10MJ-10MJ, TEE
12 2 P272661 COUPLER: NV 12-58SAE-M
13 4 P276200 10MB-10MJ ADAPTER
14 2 P234050 HOSE: -8 AM X 50" T0FJX-T0FJX
15 2 P234058 HOSE: -8 AM X 58" 10FJX-T10FJX
16 2 P285120 HOSE: -10 AMX 120" 10MB-10FJX
17 2 P851108 WASHER: LOCK 1/2" ZP
18 8 P851110 WASHER: LOCK 5/8"

* 71.P350701 SEAL KIT FOR #2 450230 MOTOR HYD MODIFIED 2000

**NOTE: OPTIONAL 22% HIGHER SPEED / 22% LOWER TORQUE DRIVE MOTOR AVAILABLE
P/N: 71.P350951 (ONLY 1 POWER ROLLER PRODUCED WITH THIS OPTION)





